3 (Sem-6) PHL M 1
2020

PHILOSOPHY
( Major )
Paper : 6.1
( Greek Philosophy )
Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x7=7
weTe frarcared ot e e

(a) “Virtue is knowledge.” This statement is
associated with Socrates/Plato/
Aristotle. (Choose the correct answer)

‘oM R WA IAEE wEoR/
(b1 /{8 5o Ot i |
(wm Teaco! Afo Sferean)

(b) Socrates’ teachings are primarily
ethical. Is it true?

e FrErmE foes ST | FIEE Te)-
17
(c) According to Plato, the world of ideas can

be known through reason/sense.
(Choose the correct answer)

CHTBR WC@, 4RIA oo Ifa /2w wf{wce
IR 1 A | (o TeacH! A Sred)
(d) State any one feature of Plato’s ideas.

C2ChR 2ord R e @O e e 4 |
20A/768 { Turn Qver )



(2) (3)

(e) Name one famous dialogue of Plato. 3. Answer any three of the following questions :
CECh 937 47 dialogued 9 & | 5x3=15
() In Aristotle’s metaphysics formal cause, were T e R @ fofRor Tes
efficient cause and final cause all melt (a) “All knowledge is through concepts.”
into a single notion of . / Explain the statement.
’ (Fill in the blank) , “SRCE WIS 2O | = 177 @R T
9fR8’%eR SRS SRt TR, fifie FR9 LRl AL
WQ; A Bl 41T ; (b) “Knowledge is not opinion.” Why does
TR R CReR | (=0T 2% 7R F41) Plato refute this view? Give reasons.
(g) Aristotle defines God as ‘the thought of “ofme wH A=y 7 @ IOl (U [ qew
4 (Fill in the blank) %fce 7 Ife AREH |
REoE g ]E “foer | .
H[5[401302 | (c) Distinguish between formal and final
) (31 372 ot 1) cause with example.
2. énswer the following questions briefly : 2x4=8 THEETE. HRRTe FRT S$ o™ 1 ST
Al enpza oY Teq i RO GO AT (Tl |
(a) “Virtue is one.” What is the meaning of (d) Write a short note on Plato’s ‘Allegory of
the statement? Cave’
‘ST O I @3 SfesE uef o (ATBR ‘TR R evies it 5 (B e |
(b) :&er'latt tllS? efficient cause according to (e) In what sense Aristotle calls God Pure
é;;__;' or Absolute form? Explain.
‘ﬂ T e e 9 5 wefo (RSE Faee 9 1 fym PR
(c) ‘ldeas are the essences of all things.” ARG STRITEEN

What is the meaning of the statement?

e 4. What is the central point of the ethical
AI9TPRR SR 09 STl 17 @3 Sfeh

o1 {2 teaching of Socrates? Explain in this regard
: how Socrates identified virtue with
(d) “Knowledge ig = knowledge. 2+8=10
S perception.” How does
Plato refute this view? Give two reasons. wahm e PreR g Rm o @R Tree
TO2 W 1 o wralie fomcd e wE e SR gF
3o fE @3 e ge :
? 761 3% fim | FCR?
20A/768 20A /768 ( Turn Over )
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(4)
2020
Or / 41
“Virtue can be taught.” Critically explain the PHILOSOPHY
statement. 10 -
‘g el iR AR WRET SRR @3 ( Major )
SfeCOl 4 41 | Paper : 6.2
5. What is knowledge according to Plato? [ Contemporary Indian Philosophy—II
Distinguish between knowledge and opinion. (Philosophy of Gandhij |
2+8=10
¢ Wee T 67 WM W ST W A1k i 0
fefy 41 | Time : 3 hours
) Or / =331 The figures in the margin indicate full marks
What is Idea’ according to Plato? Explain the for the questions
salient features of Plato's theory of Ideas. 2+8=10 y
IR W, ‘4R’ 7 @AOR qFEIeE 24 Answer either in English or in Assamese
CaPerPRR < 1, T 4 1. Answer the following as directed : e
6. Explain Aristotle’s theory of causation. How weTe G FCHRl Ted o :
is it different from the modern scientific view : :
of catisafion? ‘Give reasofis, o (a) Maha.tma.Ganfihl can be considered to be a
ARE 5 PR ©GCH 0 W | 3 vt R practical idealist. .
YfF RS FRED o (e o of2% 9 ( Write True or False )
& SR | TR RS 9T RS SR I wee
Explain Aristotle’s view of Form and Matter e =)
If} what way, ArlSthtle’S concept of matter is (b) For Gandhi, religion is/is not a part of
d%‘ge,%;z;t from physical matter? Discuss. 8+2=10 politics
4 S S B T '
55 T 2 T 7T ( Choose the correct answer )
s TR e (Sifew o SRR TS, 4 G w7 /7=
A 7T AR 21 3 2 SR <) S i e
(7 Teachr Af Tferear )
* & ok
20A/769 { Turn Over )
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(2) (3)

(c) What is the other side of the coin of (b) Why Gandhi considers ‘fasting’ as a form of
Non-Violence according to Gandhi? Satyagraha?
TR TCS, ST U ! B R 2 TR TP R STereres ¢ el e
facavan sfifed 2

(d) What is the literal meaning of the term
‘Satyagraha’?

Srenaz’ ¥R/ SrEe 9y 2

(c) Whatis bread labour according to Gandhi?
SRR Teo A 6 2

(¢) What is the meaning of Bhoodan (d) Write one advantage of Gandhian concept of
Movement? trusteeship.
WWG{#%? ﬂl%ﬁﬂﬁﬂ’l“ﬂ%ﬁﬂﬁﬁ\ﬂﬁ{ﬁﬂ%ﬂ@l
{5, o gutioeenUntotls Last] 3. Write short notes on any three of the following :
Unto This Last (e T61 Fa(2a1 7 5%3=15
_ were Tl R e Fofbr fRmen o et et -
(g) Khaddar or Khadi is connected with
Swadeshi/Sarvodaya/Satyagraha. (a) God and truth
( Choose the correct answer ) ' EG R
4 1 4 T [ [STenEER (e wfbe | (b) Satyagraha
(= Teseo qifd Tfenean ) EICIEY
2. Answer the following questions : 2x4=8 (c) Religion
weTe gl 2peares Teq fi Sbf
(a) What are the two aspects of Non-Violence (d) Swadeshi
according to Gandhi? Which of these is Kiqal
more important and why? {e) Untouchability
‘rﬂﬁamﬁr&aﬂmﬁﬁﬁ%ﬁ?@@ﬁ*ﬁ o]
(P! T3 gy Wi Ry 2
20A/769 ( Turn Qver )
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4, Explain Gandhi’s concept of Non-Violence. 10 2020
SIS SRS 4ECHT <Or <01 |
Or / 5241
PHILOSOPHY

Elaborate the essential features of a Satyagrahi.
G AR A AR TP R
ferd | Paper : 6.3

5. Ciritically discuss Gandhi’s concept of trusteeship. 10
ARG TE TR GRAIGH €T THICESATS
S[ICETo] SRR |

Full Marks : 60
Or / g31 -

Discuss Gandhi’s concept of Sarvodaya. Bring out

( Major )

( Contemporary Western Philosophy )

Time : 3 hours

its significance. The fi i the et i e
€ Jigures in margin inaicate marKks
oo fefy 41 |

Answer either in English or in Assamese

6. Give an outline of Gandhi's critique of

industrialization. 10
SRE SCEIEead SHCEnAl TS T TS 1. Answer the following as directed : 1%7=7
| i were e S fie -

Or / 3341 (a) Belief in the primacy of .__  is a
Why did Gandhi oppose industrialization? characteristic feature of exi‘stelntialism.
Discuss his views on economic development. daioa Lol
e 9 S Reafiel skt o waafee _ F e e iEgame @bl i |
Tafe W™ (989 419N SgEs 997 | (<1 37 o 4 )

* K
20A/770 ( Turn Over )
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(b)

(c)

(d)

20A/770

(iii) Existentialism does not

(2)

““Man is condemned to be free.”” Name
the philosopher who is associated with
this statement.

‘TR F@A A w1 @3 SfEnE wre
e TR w1 o |

Name the existentialist philosopher who is
associated with the concept ‘leap of faith’.

PR B {RN0R Ot Sive  SRygail
wffeieEeE w1 e |

Which of the following sentences is true?
ETq (PIICOT I 9 7

(i) Existentialism is an emphasis on

abstract thinking.

wfygqr g fovd e@e wwg ome
A |

(ii) Existentialism is related to logical
positivism.

GG TR AOFFIME (S T |

emphasize
rationality.

YRIGAIT Ifad 89w @Fy a7 |

( Continued )

(e)

()

(g)

20A/T770

(3)

Name the second stage of existential

transformation according to Kierkegaard.
s W WM ST cRed faSw
GCOIE I &7l |

With which of the following word the
term ‘intentionality’ is associated?

AT (PFCH! *17d ATTS AN XA T ?
(i) Body
a4
(ii) God
ELE
(iii} Consciousness
5l
(iv) Religion
g3f

( Choose the correct answer )
( W= Teaco 1R Tferean )
Who among the following is the author of
the book Being and Nothingness?
wee Ti@d 91 APed [Gege (@A Being
and Nothingness 2% 2[(T91 7
(i) Kierkegaard
[RERIN
(ii) Neitzsche
A

( Turn Quer )



(4) (S)

(iii) Hegel (d) State any two obstacles that obstruct the
T exercise of man’s freedom according to
Sartre.
() 1.5, Sarire wIefd TCS R TR SRS <41 SR
ce. . = A e 1ol dfeTse Tead 41 |
( Choose the correct answer )
(== Teachl qifz e ) 3. Answer/Write short notes on any three of the
following : 5x3=15
2. Answer the following in brief : 2x4=8 wers fia i coreen FoFiom T / e vt e
T I v e e - (a) Write a note on Phenomenological
reduction.
(a) In what sense phenomenology regards
philosophy as a ‘rigorous science’? areifain Rrefased Raca «fb Grel f
Ao & e ™ @ ‘oo e qﬁi (b) Neitzsche’s concept of ‘will to power’

RS FRCE ?
eI TR 4fS T'T =l

(b) What does Neitzsche’s nihilism mean?
(c) Explain existentialists’ view that ‘truth is

e AL f LR subjective’.
(c) Name two  atheistic  existentialist ey Y’ 3 e T e AR
philosophers. 4 F40
eI A e e wm GEI (d) Sartre’s concept of freedom
gq FRTO 4I=ell
20A/770 ( Turn Over )

2081568 ( Continued)



(6) (7))

(e) Explain phenomenology as a trend of the
contemporary Western Philosophy.

APNES IS e @t Serew q| f=2eee

(e) Explain the statement that existentialism is
a ‘movement of protest’.

g 9T ‘AfSam ST —SAEE il

£ OIS T~ IR 41 |
(f) Discuss  general  characteristics  of
30 existentialism.
4. Answer any three of the following : 10x3=
Y > wfEgamd AGEd (3 ;15531%_5 SICETIo=T R4l |
wore AR & e SRR Te
(a) What is existentialism? Distinguish between L
Theistic and Atheistic existentialism. 2+8=10
TEEW 9 FHEm W FHaraam sigamE
e 12 el 4 |
(b) Discuss after Kierkegaard the three stages
of human existence.
FEAET (o T SEgq foesT B9 DA
41|
(¢) Explain Nietzsche’s concept of Superman.
TR ST 4IGNHT 17 4l |
(d) “Existence precedes essence.” Explain
and examine the statement.
“ofgy APTER Sl 1”7 S W
a6 41 |
20A—5000/770 3 (Sem-6) PHL M 3
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PHILOSOPHY
( Major )

Paper : 6.4
( Ethics—II )

Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions as directed :
1x7=7

Pt oo 2Pearee Teq fial

(a) How can a right action be defined,
according to deontological theory?

FTEES TSP (I 9F I Fafq

@ (Feied fra Aif 2

20A/771 ( Turn Over )



(3)

(2)

(b) Which of the following statements is (e Rop"- Kant;ino mauk (45 halvays s
correct? means/end/non-entity in moral status.
weTs fral Sfemyes fowqe @sT wa 2 P69 A (o BfS SFRR TR FHE - <ol

ToR | o ) S-Tel |

(i) Kant's moral theory is consistent ( Choose the correct alternative )

with teleological theory. ( wm st il Sferear )
I AT T SR G |
TOJMS 51 o167 | (d) Find out the mismatching pair :
(i) Kant’s moral theory is inconsistent Tt i i
with deontological theories. (i) Gita’s Niskama Karma :
I09 ISP eqTT m o Consequentialism
ToTI TS SRS | Mo g o : Femee-TFan Toqm
(iii) Kant’s moral theory is consistent (i) My station and its duties : Bradley
with utilitarianism. (TR B S 6] ¢ (O
FBq (T Toqm oo F5S o -
yﬁqf%n:lcfl {”1) Rita (Rta] . Adrista
YT : I8
iv) Kant’ 4 :
(iv) -:;I ; moral theory is inconsistent (iv) Arabdha or Prarabdha Karma :
W i ;
1th hedonism. Praktana or Sancita Karma
I S wam A[E w9 S 91 A7 T : 2rE 41 %S T
=PIRaIfS7e |
20A/771 ( Turn Over )

0A/T71
{ Continued )



(4)

(e) What is the etymological meaning of the (c)
term ‘deontology’?

‘Deontology’ “M(bR JefGere 5% & 2

(f) Is Moore a naturalist philosopher?

(S)

Briefly explain conditional imperative
with the help of a suitable example.
TRE Twdd bl RS BORN  SOTE
faca v 2 40 |

(d) What is the difference between Pravritti
QoI 2rpfoammt wpeffers 22ce 2
& 5 b Marga and Nivritti Marga?
'g) Which theory of punishment can be oigfs ol SR fgfe Mofa e =i 5 2
called a ‘Rehabilitationist theory’?
BT (P TS “offiTergers weam” 17 3. Give answers on any three of the following :
37 21 2 Sx3=13
wore AR ogs R @ien ffer Tea for
2. Answer the following questions in brief :  2x4=8 (a) Write the maxims of categorical
oo WAl s o9 Teq fu imperative.
BERN CPR o1 @ A1 AR o |

(a) What is the difference be ween
act-deontological theory and (b)
rule-deontological theory?

TFETPRE T A -
TE] Trere “f12fe 9 (c)

(b) What is naturalistic fallacy?

erpfedil Ffe 1 ¢y Wi B 90

20A/771
20A/771 ( Continued)

What do you mean by the concept of
Sthitaprajna in the Gita?

Mo Rrearea e Lo & 3o ?

What is ‘pseudoconcept’ in Ayer’s
emotivism?

wEEE ScEel-REe Teame  ‘@ERel’ KA
2

( Turn Over )



20A/771

(6)

(d) Is the law of Karma fatalistic? Briefly 6

discuss.

T AGEA R (2 B G 4 |
(e) Give  arguments  against capital

punishment.

Tged e S woReem |
Explain Kant’s moral philosophy as reflected
in the statement—*‘Duty for duty’s sake.” Il
“TEI WA FEG AT —SReBre A (ol
B CIRST weferd T <l |

Or / g

Is Niskama Karma possible? Explain. 1

o= 5 T8E =17 1 4 |

Is good definable? Explain after G. E. Moore. !
IR W 1 ? &, 2. 39 ToRpif qm 3w |

Or/ Todl

Explain and examine A. J. Ayer’s emotivism. I

€. (@ SRRE S0 -RR Toqmcs ey S
59 =1 1

( Continu€d20A—5000/771

(7)

Critically discuss the preventive theory of

punishment. 10

W Afecee  woamoR R Remers
AL 4 |
Or / gl

Distinguish between Sakama Karma and

-Niskama Karma. 10

T e o (e e qrels frefe 0

* k&
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PHILOSOPHY
( Major )
Paper : 6.5
( Philosophy of Religion )
Full Marks : 60
Time : 3 hours

The figures in the margin indicate full marks
for the questions
Answer either in English or in Assamese

1. Answer the following as directed : 1x7="7

woTe T o S O e -
(2) What is the essence of religious experience
according to Rudolf Otto?
Rudolf Ottod e 4T Sfeeer eTsl 7
(b) Who was the author of Proslogion?

Proslogiond At can
religious  language is

(c) The nature Of
C“gnilive/non-cognitive.

o o G/ Ee TR
( Choose the correct answer )

(@%??@imzﬁﬁﬁﬁem)

(d) What is the symbol of ‘Ultimate Concern’” in

T OId &9
( Turn Over )

religious language”
¥ s ‘Ultimate Concern

20A/772



(2)

(e) Tfle Teleological Argument for the existence
of God is also known as

St S e
W@Eﬂ]ﬂm; BW ﬁ

( Fill in the blank )
(= 97 =@ ¥4 )
(1) Doc:‘:s Sankardeva’s philosophy admit the
notion of incarnation?
RPIH T SOR R S A 7
(g) Is the idea of the Holy an a priori idea?
TR 425 fSemeiop st 2

2. A i
nswer the following questions in brief -

TS 7l 2T oy B fy

(a) ‘What is Eka Sarana Nama Dharma?
GF X6 Y g ot & 31 9

(b) Name ¢
WO  su _
Argument, pporters  of Teleologlcﬂl

(c) Wﬁwm%iwmﬁml
rite iy
o two distinctions bEtwieE religiOUS
7518 and ordinary language
RIS MISIEC R PETO @7 e Gt |

(d) Wrj
rite { _
e names of two masterworks of

Kk .
I T RS

20A/772 T %l'?n |

2x4=5

(3)

" 3. Answer any three of the following questions :
5x3=15

oot fi eppr X e fofibr T o -
(a) Briefly explain the basic features of

Sankardeva’s Neo-Vaishnavism.
A TR I CAFEPTR I
4 |

(b) Explain the four fold functions of religious
symbol according to J. Randall.
J. Randalls Torpi 4 28 vl SEglE)
el I P4l

(c) Give a brief note on the concept of Divine law
giver of Moral Argument.

GIoE gi“—wwm%ﬂ%ﬁtmmmem

@1 B (BT &7 |

(d) Write a short note on the concept of “Wholly
Other’.
Wholly Other’ ¥ AIIHM &7 <ol B BT
feran | :

(e) Briefly explain the four pillars of

Sankardeva’s religious philosophy as laid
down by Dr. Radhakrishnan.

AT 4N W T A a7 IR
4fbq e vaLe T |

20A/T72

B

( Turn Over )



(4)

4. What is the nature of the idea of the Holy? Explain

the significance of the elements in Numinous. 10

AfiqoR gl e & ogE? e SAmeeTgze
o T T |

Or / 7331
Critically discuss the Cosmological Argument for
the existence of God.
qq Sfg-d eoee et FEnE
TS < 41

5. What is religious language? Discuss the symbolic

nature of religious language. 10
Sy o e & g2 T omE 4SieNT w6
SICEABT 47 |

Or / «i%41

Explain critically the Moral Argument for the
existence of God.

T SRR (ISR qRECH! AT e
7] F41 |

6. Explain the concept of Bhakti in Neo-Vaishnavism. 10
TA-(IRRITS S GRETC! A 4 |

Or / #i3a7

Discuss the concept of God in Sankardeva’s
philosophy.

RO THTS A9 4RI SIgeTseT 0 |

L
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